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Ⅰ 　次の英文を読んで、各問い（問 1～問 8）の答えとして最も適当なものを、それ

　　ぞれ下の ① ～ ④ から１つずつ選べ。

　Many observers have dismissed the sounds which animals make as simply ‘noises,’ but 

scientists who have taken the time and trouble to listen carefully  to the extraordinary  

variety  of sounds made by different creatures  have concluded that animals really  can 

communicate with one another.　⑴［ that /  are /  assume /  we /  arrogant /  how /  to ］ 

we are the only species capable of communicating and of formulating a formal system 

of language. It  is leveling to realize that animals may, similarly,  think that the sounds 

we make when we talk to one another are no more than pointless noises.

　Here are a few examples illustrating the ability of animals to communicate effectively.

１）Scientists studying whales have found that there are patterns of what can only be 

described as speech in the noises they make.

２）Bees can communicate the direction, distance and value of pollen sources quite a 

distance away.

３）It  is（  ）assumed that parrots merely repeat words they have heard without 

understanding what they mean.　（  ）.　In their marvelous book 

 authors Mason and McCarthy  report that when psychologist Irene Pepperberg 

left her parrot at the ＊1vet’s surgery  for an operation the parrot, whose name 

was Alex,  called out: ‘Come here.　I love you.　I’m sorry.　I  want to go back.’

Another  parrot, in New Jersey,  America  saved the life of its owner by crying: 

‘Murder!  Help! Come quick!’　When neighbors ran to the scene they found the 

parrot’s owner lying on the floor, unconscious, bleeding from a ＊2gash in his neck.

全員必答　Ⅰ ～ Ⅲ は必ず解答すること。
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The  doctor who treated the man said that without the parrot’s cries he would have 

died. The  same parrot woke his owner and neighbors when a fire started in the 

house next door.

４）Rabbits communicate by thumping on the ground with their hind feet.　They  can 

‘talk’ to one another in this way over distances of 200 yards.

５）Human beings who have taken the time to ⑶do so have found that they have been 

able to communicate well with all other primates.

６）Animals  can communicate in ways we haven’t really  begun to understand.　British  

biologist Rupert  Sheldrake conducted an experiment（　４　）he simultaneously 

recorded humans at work and their dogs at home.　The moment the human left 

work, the dog, waiting at home, headed for the door.　⑸This  worked even if the 

human being left work  at a different time each day.　The  daughter of one dog 

owner reported that their dog always rushed to the door exactly  twenty minutes 

before her mother arrived  home.　And it didn’t matter what time the mother left 

work.　The  dog always knew.　We are aware of a number of people who have 

reported similar  skills  among cats.

７）It  is（　６　）unusual for human beings to receive messages from animals.　British

author, Sir  H. Rider  Haggard, once described how he had dreamed that his dog 

Bob was lying dead in a ＊3clump of weeds near some water.　In  the dream the dog 

appeared to be telling the author of his forthcoming death.　‘The next day,’ wrote 

Haggard, ‘Bob was found dead in just such a place.　He had been hit by a train at 

the same time that I’d had my dream.’

注　＊1 vet; veterinarian:  獣医

　　＊2 gash: 深い切り傷

　　＊3 clump: 茂み
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　問 1 �　下線部⑴を意味が通るように並べ替えたとき，２番目と５番目に来る組み合わ

せはどれか。 1

①　２番目： arrogant	 ５番目： to

②　２番目： that	 ５番目： assume

③　２番目： we	 ５番目： to

④　２番目： assume	 ５番目： that

　問 2　空所（ 2‒1 ）と（ 2‒2 ）に入れるのに最も適当な組み合わせはどれか。 2

①　（ 2-1 ）: usually	 （ 2-2 ）: This is the case

②　（ 2-1 ）: never	 （ 2-2 ）: This is not certain

③　（ 2-1 ）: generally	 （ 2-2 ）: This is not true

④　（ 2-1 ）: naturally	 （ 2-2 ）: This is true

　問 3　下線部⑶が示す語句はどれか。 3

①　communicate by thumping on the ground with their hind feet

②　talk to one another

③　take the time

④　communicate well with other primates

　問 4　空所（　４　）に入れるのに最も適当なものはどれか。 4

①　which

②　in which

③　when

④　how

　問 5　下線部⑸が示す語句はどれか。 5

①　the moment

②　the human left work

③　the dog headed for the door

④　waiting at home
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　問 6　空所（　６　）に入れるのに最も適当なものはどれか。 6

①　usually

②　on the other hand

③　always

④　by no means

　問 7　本文に挙げられている例の内容に合わないものはどれか。 7

①　クジラは言葉と呼べるような音声パターンを用いて互いに意思伝達する。

②�　人間の言葉を用いて自分の意志や飼い主の危機を伝えることが出来るオウム

がいる。

③�　飼い主が帰宅する時間を，それがいつも同じでなくとも知っている猫は多く

いる。

④�　犬が飼い主の夢の中で飼い主がどこでどのように亡くなるかを予言したとい

う事例がある。

　問 8　本文のタイトルとして最も適当なものはどれか。 8

①　Human Beings And Animals Are The Best Friends

②　Animals Know When They Would Die

③　Animals Can Communicate With One Another And With Us

④　We Can Understand Exactly What Animals Say
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Ⅱ 　次の各問い（問 1～ 問10）の空所を補うのに最も適当なものを、それぞれ下の

　　① ～ ④ から１つずつ選べ。

　問 1 �　You’ll get into trouble unless you are 9  enough toward your elders in 

this company.

	 ①　respectful	 ②　respectable

	 ③　respective	 ④　respecting

　問 2 �　By the time she retires next month, Louise 10  working for that bank for 

20 years.

	 ①　has been	 ②　will have been

	 ③　will be	 ④　is

　問 3　You 11  tell her the truth and apologize to her as tell such a lie.

	 ①　might as well	 ②　may well

	 ③　should	 ④　had better

　問 4　We would have stayed home if we 12  you would come and see us.

	 ①　know	 ②　have known

	 ③　had known	 ④　were known

　問 5　The trade continued 13  the fact that it was illegal.

	 ①　in spite	 ②　despite

	 ③　as	 ④　though

　問 6　 14  choice he may make, we’ll support our son.

	 ①　No matter	 ②　However

	 ③　Whatever	 ④　Whenever
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　問 7　It’s no use 15  about the exam you took before.

	 ①　to think	 ②　thinking

	 ③　thought	 ④　being thought

　問 8　Mike’s sudden illness prevented his father 16  to Tokyo on business.

	 ①　from visiting	 ②　for coming

	 ③　from going	 ④　by getting

　問 9　That was the reason 17  David gave for his absence the day before.

	 ①　what	 ②　how

	 ③　why	 ④　which

　問10　Natalie realized that she had a lot of 18  by the end of this month.

	 ①　works to do	 ②　work done

	 ③　work to do	 ④　works doing
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Ⅲ �　次の各問い（問 1～問 5）において、それぞれ下の ① ～ ⑤ の語句を並べかえて

空所を補い、文を完成させよ。ただし、解答は 19  ～ 28  に入れるものの

番号のみを答えよ。

　問 1　上司は報告をしなかったことで私を責めた。

　　　　My boss  　　　　 　　　　 　　　　 　　　　 　　　　 him.

	 ①　me	 ②　for	 ③　having informed

	 ④　blamed	 ⑤　not

　問 2　私が話したかった人は出張でいなかった。

　　　�　The person 　　　　 　　　　 　　　　 　　　　 　　　　 away on a business 

trip.

	 ①　wanted to	 ②　was	 ③　talk

	 ④　I	 ⑤　with

　問 3　この小説はとても短いので１時間で読むことができる。

　　　　This novel 　　　　 　　　　 　　　　 　　　　 　　　　 in an hour.

	 ①　is	 ②　to be	 ③　enough

	 ④　short	 ⑤　read

　問 4　私はどこに腕時計を置き忘れてしまったのだろうか。

　　　　Where 　　　　 　　　　 　　　　 　　　　 　　　　 ?

	 ①　could	 ②　my watch	 ③　I

	 ④　left	 ⑤　have

　問 5　彼はたいへん努力をしたので金メダルを獲ることができた。

　　　　His great 　　　　 　　　　 　　　　 　　　　 　　　　 the gold medal.

	 ①　win	 ②　him	 ③　enabled

	 ④　to	 ⑤　effort

21

19 20

22

2423

25 26

27 28
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Ⅳ �　次の対話文（問 1～問 6）の 29  ～ 34  に入れるのに最も適当なものを、

それぞれ下の ① ～ ④ から1つずつ選べ。

　問 1　Ａ:　Excuse me, is this seat taken?

　　　　Ｂ:　I don’t think so.

　　　　Ａ:　Do you mind if I sit here?

　　　　Ｂ:　 29  

　　　　Ａ:　Thank you.

　　　　Ｂ:　You’re welcome.

①　Yes, go ahead.

②　No, you don’t.

③　Yes, someone will sit here.

④　No, not at all.

　問 2　Ａ:　What should we do for Kate’s birthday?

　　　　Ｂ:　Shall we go to the restaurant where they sing birthday songs for her?

　　　　Ａ:　But do you think she’ll like that?　Maybe she is too shy for that.

　　　　Ｂ:　 30  　That might be better.

①　Instead, we could take her shopping.

②　But, that sounds like a good idea.

③　Indeed, I think she would be nervous.

④　So, she could change her mind.

※教養学部志願者のみ解答すること。
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　問 3　Ａ:　I’d like to return this coffee maker.　It doesn’t work well.

　　　　Ｂ:　 31

　　　　Ａ:　I’d like my money back, please.

①　No problem.　Can you take it home?

②　Sure.　Would you like cream in your coffee?

③　Do you have coffee before you go to work?

④　Of course.　Would you like a refund or a replacement?

　問 4　Ａ:　Where did you find that nice cap?

　　　　Ｂ:　I found it in a catalog on the Internet.　It was 20% off.

　　　　Ａ:　 32

　　　　Ｂ:　It came in just a few days.

①　Do you need to have a credit card?

②　Do you think it looks better?

③　How long does it take to be delivered?

④　Is the sale still going on?

　問 5　Ａ:　Is that a new phone?

　　　　Ｂ:　Yes. Unfortunately, I lost mine.

　　　　Ａ:　That’s too bad.　 33

　　　　Ｂ:　Yes, let me give it to you.

①　Did you find it easily?

②　Did you change your number?

③　Can you return this phone?

④　Are you happy with the new one?
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　問 6　Ａ:　What’s the purpose of your visit to Australia?

　　　　Ｂ:　I’m here for sightseeing.

　　　　Ａ:　How long are you going to stay?

　　　　Ｂ:　For seven days.

　　　　Ａ:　OK.　 34

　　　　Ｂ:　The Royal Riverside Hotel.

①　Can I see your passport, please?

②　Where will you be staying?

③　Do you have anything to declare?

④　When did you visit Australia last time?
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Ⅴ （い問各、でん読をフラグと文英の次　 問 1～問 6）の答えとして最も適当なものを、

それぞれ下の ① ～ ④ から１つずつ選べ。

　Japan is the nation that has likely  experienced the most dramatic shifts in the diet 

of its citizens during the past decades.　This is due to various factors including rising 

incomes, increases in the number of supermarkets  and convenience stores, and trade 

liberalization － all contributing to the Westernization of diet.

　As  shown in  residents of Japan’s capital Tokyo  are now（　１　）.

While the average Tokyo  resident in 1947 was consuming only 5 grams of meat per 

day, recent data shows that he or she is eating almost（　２　）grams of meat daily.  

In  fact, between 1970 and 2005, the total amount of beef consumed within the city 

increased by about 160%（equal to 11.5kg per person in 2005）and 90% for pork（equal 

to 20.1kg per person in 2005）.

　This  popularity of a more meat-centered diet and the decline in rice  and fish 

consumption has resulted in major changes of the average Japanese menu.　The 

radical change can be easily illustrated through the rising popularity of grilled meat 

※薬学部志願者のみ解答すること。
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 fast food chains（like McDonald's restaurants）.

　Rapid increase in（　３　）has also caused severe damage to the ability of the 

Japanese agricultural  system to provide the food consumed within the country.　While 

in the early  1960s the country was almost self-sufficient in beef, pork and chicken as 

well as in rice, currently  Japan is a net importer of every  major meat category.　For  

example, as  illustrates,  Japan now imports more than 50% of its beef.

Low self-sufficiency has been a major ⑷headache for the Japanese government.　In

fact, food self-sufficiency is featured as a top policy objective and the Japanese 

government is attempting to implement policies that aim to boost food self-sufficiency 

above the relatively  low rate of 40%（compared to other developed countries）.

 ※self-sufficiency ratio：自給率

 ※implement：実施する
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　問 1　空所（　１　）に入るものとして最も適当なものはどれか。 35

①　consuming less meat than seafood

②　consuming more meat than seafood 

③　importing less meat than seafood

④　importing more meat than seafood

　問 2　空所（　２　）に入るものとして最も適当なものはどれか。 36

①　40

②　60

③　90

④　110

　問 3　空所（　３　）に入るものとして最も適当なものはどれか。 37

①　energy demand

②　fish demand

③　oil demand

④　meat demand

　問 4　Graph 2 の ⒜ ⒝ ⒞ の組み合わせとして最も適切なものはどれか。 38

	 ①　⒜　beef 	 ⒝　chicken 	 ⒞　rice 

	 ②　⒜　chicken	 ⒝　beef 	 ⒞　rice

	 ③　⒜　rice  	 ⒝　beef 	 ⒞　chicken

	 ④　⒜　rice 	 ⒝　chicken	 ⒞　beef
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　問 5　下線部⑷の意味として適切でないものはどれか。 39

①　bother

②　convenience

③　problem

④　worry

　問 6　日本人の食に劇的な変化をもたらした要因として適切でないものはどれか。

40

①　スーパーやコンビニの増加

②　農地の拡大

③　貿易の自由化

④　所得の増加




